Section 6.1: Area between Curves

Consider the continuous functions f(x) and g(x) with the property on the
interval [a,b] that both are above the x-axis and f(x) > g(r). Write down the
computation that will give the area bounded between these functions on this
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For the next graphs, set-up the integral(s) that will give the area that is
bounded between f(x) and g(x) on the interval [a,b] .
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Example: Find the area that is bounded by these curves.
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Example: Find the area that is bounded by these curves.
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Example: Find the area that is bounded(enclosed) by these curves from X
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Example: Set up the integral(s), with respect to the variable y, that gives the

area that is bounded(enclosed) by these curves.
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Example: Set up the integral(s) that will give area that is bounded by these
curves on the interval —2 < y < 3.

> r=y’—4y= b(b-"’)

yzO,Eu:,\'
= Ly s -
Y9z x D Xz 2g

0
3
5 9%y - 2y ”('j +

Ch-6-1 Page 6



Page 7 [
s +

Example: Set up the integral(s) that will give area that is bounded by these
curves fromxr =0tox =2
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Example: Set up the integral(s) that will give area that is bounded by these
curves = |y — 1| and = = y? — 3 with the condition that y > 0

Ch-6-1 Page 8

V-l >,/
X = 'v-ll = h
“(v-1)  pe
921 9 el
—_— /
X=y-i K= =(5-1)
Yz XH X= -9t
Y= )-x
_fhkfsc‘«/'r.\’\
Y =Xt Xrgz-S
V-Iz=x
v-1=y= 3
O - 92-3 -2
e Nl
‘9: l H=-



